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WQuee'.tion No : 41 of 52

Marks: 2 (Budgeted Time 4 Min) (=]
What do setText () method and getText() do?

A

Answer ( Please click here to Add Answer ) MSWQLS,COIR
BT A R e W e N e R ||
Il*h:lrm:al _'_I I.‘u'.ri:al L’ | 12 ;I B 7 U | E === I = *;E =

setText() is used set any value in textfield and it set as a string

getText 1s vice versa of setText()
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WQuee'.tion No : 42 of 52

Marks: 2 (Budgeted Time 4 Min) (=]
How JSP's are efficient?

A

Answer ( Please click here to Add Answer ) ‘_[l] E- n SI I E ]: E:
=EaR| o e #|E 0 n 9@ 1]
INurm-:l __II-—IHI _“1 g -_I B 7 U H—'E = El E E SE e

efficient as we can embad an HTML code and java code at one place so we dont have to splite all files and also
make ease for dovelpoers
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|Question No : 43 of 52 Marks: 2 (Budgeted Time 4 Min) E'II

If we do not want to mclude a controller i our application . Which layer of three layer architecture will control screen flow?

A

Answer ( Please click here to Add Answer )

FE&R| L BaEo o M|E 0L @ [0 =]
INurmnl __“uml _“1) _I B 7 U ”—E I,

page centric approche will be used as
presentation layer

buisness layer

data layer
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|Question No : 44 of 52 Marks: 2 (Budgeted Time 4 Min) E'II

A

If vou want to send an error redirect to a web page. What method you will use for it. Wnite complete code syntax of required method.

Answer ( Please click here to Add Answer ) uuAnswensvcom

BT A R e W e N e R ||
Il*h:lrm:al _v_“,u,ri:al L“K’ ;I B 7 U ”gg I;

An error code is sent as a parameter of response.sendError (int, msqg)

methods
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|Question No : 45 of 52 Marks: 3 (Budgeted Time 6 Min) El|

FN

What will be the output of code given below? If there 15 any problem in code then correct the problem.

import javax. swing *,
public class Test {

public static void man(String[] args) {

Answer ( Please click here to Add Answer ) vuﬁnswe.r.s.‘_com

B ST e R T o A e e R |
Il\lormal _v_“,u.ri:al ;”1;' LI B 7 U ”—;—‘Tg I;

Il
il
I
i
i

YNade by: YWaqar Siddhu




|Question No : 46 of 52 Marks: 3 (Budgeted Time 6 Min) IQI

A

What 15 the advantage of having HT TP session?

Answer ( Please click here to Add Answer ) vuﬁnswe.r.s‘.com

BT A R e W e N e R ||
Il*h:lrm:al _v_“,u,ri:al L“K’ ;I B 7 U ”gg I;

Provides a way to identify a user across more than one page request or visit to a Web site and to store information about that user.
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WQues;tion No : 47 of 52

Marks: 3 (Budgeted Time 6 Min) El

Write a statement to use tag library “StudentInfo tld” with prefix “student”.

_“~

Answer ( Please click here to Add Answer )

VuAnswers.com
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<% (@taglib uri="/WEB-INF /tlds/StudentInfo tid" prefix="r _* *71"%>
student

page 379 creat the Custm tag
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_Question No : 48 of 52

What is the difference between web server and application server? Request _ Web Servel
Resources
Response NE2TE
. o ap € )
Web Scrver?
Softwarc that provides scrvices to access the Internet, or an

Answer ( Please click here to Add Answer ) mniranct.

VuAnswers.com

= & & [ | e 2] | =) f- | #4 I /5l [ [ ] | (2) |1UU% v” A web server hosts web siles 1’1‘0\_/ides supportl I"or H'1'1'1” anc
olher protocols Execules server-side prograimns (such as CGl
INurm-d _J I Arial _l I] 2 _I B 7 U ”—_.___ | 5

scripls or servlets) that perforin certain functions.
A web server is software which provides users, access to the services that are present on the internet. These servers can provide support
for many protocols used over internet or intranet like HTTP, FTP, telnet etc

|I|l||
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A Web Server is a server capable of recetving HT TP requests. interpreting them, processing the corresponding HTTP Responses and sending them to the
appropriate clients (Web Browsers). Example: Apache Web Server. Read more about Web Servers and their working>>

An Application Server is a complete server which provides an environment for running the business components (EJBs. ADF BCs, etc.) in addition to providing the
capabilities of a Web Container as well as of a Web Server. Example: Bea WebLogic, IBM WebSphere, Oracle Application Server, etc.
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|Question No : 49 of 52

Marks: 5 (Budgeted Time 10 Min) EI

How java prowides security and safety for applications? Also briefly explamn JVIM venfier.

o~

Answer ( Please click here to Add Answer )

VuAnswers.com
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* The JVM "verifier" checks the code when it is loaded to verify that it has the correct
Structure -- that it does not use an uninitialized pointer, or mix int and pointer types.
This is one-time "static" analysis -- checking that the code has the correct structure
without running it.

* The JVM also does "dynamic" checking at runtime for certain operations, such as
pointer and arrav access. to make sure they are touching only the memory they should.
You will write code that runs into

* As a result, many common bugs and security problems (e.g. "buffer overflow") are not
possible in java. The checks also make it easier to find many common bugs easy. since
they are caught by the runtime checker.

* You will generally never write code that fails the verifier, since vour compiler is smart
enough to only generate correct code. You will write code that runs into the runtime
checks all the time as vou debug -- array out of bounds, null pointer.

* Java also has a runtime Security Manager can check which operations a particular pi
of code is allowed to do. As a result, java can run untrusted code in a "sandbox" wher
for example. it can draw to the screen but cannot access the local file system.
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|Question No : 50 of 52

l‘ What 15 difference between Page-Centric Approach and Page-with-Bean Approach?

[~ N et ae T e N i et B e = U L R Y - W

Page-with-Bean Approach
(MVC Model 1)

request
e EEE————
response

Web-app = collection of JSPs + beans

+ factors some of the business logic into beans

- 1nsufficient separation of logics

T'his approach is different from page-centric approach in a way
that all the business logic goes

into JavaBeans. Therefore, the web application is a collection of
JSPs and JavaBeans. But still

l.’l\ff')\_llidHU“. VUMOINL OO AU UNnia aLlLL oo 1USiIL A L At uaans sy anve HU l aAliqaiivis Uil

application

becomes a nightmare. Scaling of such Kind of application is also difficult and lots of
is also

get duplicated

Page-Centric Approach

Answers.com

database

request
—_—t

r——

response

Web-app = collection of JSPs

+ easy to get started (and carried away)

- code 1s a mixture of presentation, business & data access
logic: a maintenance nightmare

- won’t scale

- lots of duplicatic m“ de b”: w“q“" &iddl’ﬂ




|Question No : 51 of 52 Marks: 5 (Budgeted Time 10 Min) (]|

You are required to wnte a Servlet code that will read the parameters passed from the login page. In a login page, user will enter username in text field uname and password in text field pass. If the user
name 15 “vulms” and password 15 “admin” then send the user to “Welcome jsp” else send the user to “Error.jsp”

Note: You are not required to write complete code. Just wnte code which will read form data and send response to Welcome or Error page.

Answer ( Please click here to Add Answer ) vuhsmsvcom

@é[&ls E_mgln i M|B‘;~CZ A 1T||Z?)|_j1oo%v|

IN! irmal
import javax.serviet.*;

import javax.serviet.htt.”;

[l

e
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p%“izrtl:'i!ass abc exen ttpServ {B Sl===1=
public void doPost(httpServlietRequest request,httpServIetResponse response){
servietContext con = this.getServietContext();
String uname=con.getparameter("name"
Srrint upass= congetparameter("pass);
iffuname.isEqual("vulms") && (upass.isEqual("admin")
response.sendRedirect(welcome.jsp)

else
response.sendRedirect(Error.jsp) {m“de by: WQqur $iddhﬂ




|Question No : 52 of 52

Arrange the following classes i packages. Use suitable name for package:
1. Dbconn java

Input.jsp
Home html
Insertdb java

AddUser html
Deletedb. java

Answer ( Please click here to Add Answer ) VuAnswerS‘_com

D@ EaE| e | M|E (@ 1|
|I~11:|rrr|al _VJI»‘A.ri:aI L“u LI B 7 U IEE |1 .

1. home.html
2. AddUser.html

> : My point of view_....
3. input.jsp
4. DbConn.java

5. Insertdb.java Approx...
6. deletedc.java

Marks: 5 (Budgeted Time 10 Min) IQI
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Marks: 2 (Budgeted Time 4 Min) E]l

s~

|Question No : 41 of 52

What 15 other technique to remove server side overhead while mamtaining the state of user?

Answer (| Please click here to Add Answer )

100% »
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In order to maintain the conversational state. server puts little notes (some text. values etc) on the
client slide. When client submits the next form, it also unknowingly submits these little notes.

Server reads these notes and able to recall who the client is.

for more detail page 287
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|Question No : 42 of 52

Marks: 2 (Budgeted Time 4 Min) E]l

Being a java web developer, you know each tag handler class must inhent from another class. What 15 name of that class?

s~

Answer (| Please click here to Add Answer )

FESQ| L EE o - M6 T(E 100%v|
II'-ln:nr‘m:aI _II.-—-.rl:::l _“1 _] B 7 U |r
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Usually extend from SimpleTagSupport class that has already implemented
SimpleTag interface.

* For example,
public class MyTagHandler extends SimpelTagSupport {
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|Question No : 43 of 52 Marks: 2 (Budgeted Time 4 Min) E]l

s~

What 15 use of [ ] operator in EL7? Give one example.

Answer (| Please click here to Add Answer ) MHW

D@H§@|¥:Eé@|¥7f’|ﬁlﬁﬁ£.fﬂ@ﬂl@ 100%
II'-ln:nr‘m:aI LI I,ﬁ.r‘ial Lj IL L] B 7 U H—§:—: = :
The dot (.) and bracket ([ ]) operator let you access identifies and their properties. The dot

operator typically used for accessing the properties of an object and the bracket operator is
generally used to retrieve elements of arrays and collections.
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|Question No : 44 of 52

Marks: 2 (Budgeted Time 4 Min) E]l

Is it necessary that each try block must be followed by a catch block? Give reasons to support your answer

s~

Answer (| Please click here to Add Answer )

VuAnswers.com
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ves! bcz when a exception uccres in try bock then we need a cathc block where it would be cought and avoid to our progame to terminate unexpectedly
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Marks: 3 (Budgeted Time 6 Min) E]l

|Question No : 45 of 52
In HashMfap we can use put method to add objects mto HashMap. Is the code given below correct or not? If there 1s problem then identify the problem. —

hput(1 , s1); its wrong

h.put(2 , s2);
h.put(3, s3);

VuAnswers.com

Answer (| Please click here to Add Answer )

100% ¥ |
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first parameter should be a string

1l 5]

i
|
¥
(]
1
L]

1l
M

h.put("one". sl1);
h.put("two". 82);
h.put ("three". S83);
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|Question No : 46 of 52

Marks: 3 (Budgeted Time 6 Min) E]l

Write a single line to mclude a page “vuHome java™ using custom tags. You can use any name for tags but mention which name you have chosen for which tag element

s~

Answer (| Please click here to Add Answer )

VuAnswers.com
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<%(@ page mclude="vuHome java" name="chak dum_dum" %>
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|Question No : 47 of 52

Marks: 3 (Budgeted Time 6 Min) [z

—

Write an Expression language equivalent to
1. Out amplicit object of TSP
2. request.getParameter(1d”);

Answer ( Please click here to Add Answer )

N@Eaa| s o | #M|E i a9

100% |
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S{out}
equal to PrintWriter out= this_getContext();

* ${ param name }
o This expression is equivalent to calling
request.getParameter (“name”) ;
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|Question No : 48 of 52 Marks: 3 (Budgeted Time 6 Min) E]l

s~

What 15 the purpose of hash maps i session tracking through cookies?

Answer (| Please click here to Add Answer ) MHW

e Eaal| o o8| & il Ll 9@ [100% >
II'-ln:nr‘m:aI L”,&.r‘i:al L“L L] B 7 U H—§:—:§ :

Servlet has one global HashMap (globalMap) in which HashMap of individual user
(sessionlnfo) are going to be stored. This (sessionlnfo) HashMap stores the books selected by
the user.

What's the part of cookies? Cookie (named JSESSIONID, with unique value) is used to keep
the unique sessionlD associated with each user. This sessionlD is passed back and forth
between user and the server and is used to retrieve the HashMap (sessioninfo) of the user
from the global HashMap at the server. It should be noted here that, HashMaps of individual

users are stored in a global HashMap against a sessionlD.
YNade by: YW aqar Siddhu
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|Question No : 49 of 52 Marks: 5 (Budgeted Time 10 Min) El

F

suppose p 18 an object of parent class, c 15 an object of 1s a child class If the students name 1s “Zia” consider the following code and show the output:

p.display(){
system. out. printlnFather Name: A1 ™),

}
c. display(String name)

Answer ( Please click here to Add Answer ) MHsmensrcom
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|Question No : 50 of 52 Marks: 5 (Budgeted Time 10 Min) E'll

Being a java developer you have given a task to define two mutialization parameters. Define first parameter for text file {out.txt) and other for DN (studentDSN). You are required to wnte only -
necessary code.

Answer (| Please click here to Add Answer ) MHW

@Eal| s e |E i 9@ 1]
II'-ln:nr‘m:aI _II.-—-.rl:::l _“1 _] B 7 U |r§ |§

<web-app version="3_1" xmins="http/xmins_jcp.org/xml'ns/javaece" xminsxsi="http/www.w3.org/2001/XMLSchema-instance"
xsischemal.ocation="http//xmins_jcp.org/xml'ns/javaee http//xmins_jcp.org/xml'ns/javace/web-app 3 1 xsd">
<servlet>
<servlet-name>s</servlet-name>
<servlet-class>servlet</servlet-class>
<init-param>
<param-name>DNS</param-name>
<param-vahlie>sun JDBC</param-valie>
</mnit-param>
<init-param>
<param-name>1 xtfile</param-name>

- e el L i YNade by: Y/aqar Siddhe
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|Question No : 51 of 52

Marks: 5 (Budgeted Time 10 Min)  |=]

Write literals that can be used as an EL (expression language). Also wnte there possible values.

=

Answer (| Please click here to Add Answer )

= e e = R L A R e [___lwc:%vl

If'-ln:ur‘m:al L.I I,&.r'ial _j |1 _] B 7 U H—— = =

i
il
Il
(l

1
L]

| T . > >

Literals

Literal Values

Boolean

true or false

Integer

Similarto Javae.g 243.-9642

Floating Point

Similarto Javae.g 54.67.1.83

String

Anvy string delimited bv single or double quotee.g.

“hello™ , “hello’

Null
| 2

Null
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_Question No : 52 of 52 Marks: 5 (Budgeted Time 10 Min) El

You are required to wnte a Servlet code that will read the parameters passed from the login page. In a login page, user will enter username in text field uname and password in text field pass. If the user
name 15 “vulms” and password 15 “admin” then send the user to “Welcome jsp” else send the user to “Error. jsp”

Note: You are not required to write complete code. Just wrte code which will read form data and send response to Welcome or Error page.

Answer ( Please click here to Add Answer ) MHsmensrcom
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|Question No : 41 of 52 Marks: 2 (Budgeted Time 4 Min) E]l

s~

If we will not give width and height in applet tag then which one will get true?

o Applet will not run
® Applet will run but not wisible

o Applet will run and wstble

Answer (| Please click here to Add Answer ) MHW
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A wil run but not visible
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|Question No : 42 of 52

Marks: 2 (Budgeted Time 4 Min) EII

How JSP’s are efficient?

—

Answer ( Please click here to Add Answer )

FESQ| Lo = |M|Ed LT3 100%v|
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use the tags..
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combination of html+ servlets..ssp that provided

more speed and
security as well as better tools for web page creation.
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J

.

Marks: 2 (Budgeted Time 4 Min)

_Question No : 43 of 52

When we use Page centric approach?

Answer [ Please click here to Add Answer ) MHW /
D ESR| s oA A E g [E o) =N ]
Ir'-lu:n‘m:al L.I |4u,ri-al ;] I'l';-' LI B 7 U ”_ég = —E_—l i i_:: +;§ \

it has lot of drawbacks as mixture of all logic layers and scaling is difficult so this aproche used in small \k B
N

web application where maintanence would be any mess.
\AQ\F\ \CC:L o
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|Question No : 44 of 52 Marks: 2 (Budgeted Time 4 Min) Bl

.

Write java code syntax which will create a cookie object c.

Create a Cookie Object
A cookie object can be created by calling the Cookie constructor. which takes two strings: the
cookie name and the cookie value.

Answer ( Please click here to Add Answer ) MHM
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_ " .
Cookies ¢ = new Cookie("name", " ahie");
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Marks: 3 (Budgeted Time 6 Min) E]l

s~

|Question No : 45 of 52
Write a statement to call an error page along with the “source not found ” message using request dispatching technicque.

Answer (| Please click here to Add Answer )
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1l 5]
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requestDispatcher rd = request.getRequestDispatcher("file jsp);

rd_sendError(800,"source not found");
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|Question No : 46 of 52

Marks: 3 (Budgeted Time 6 Min) E]l

s~

Write any six features that JSF prowide?

Answer (| Please click here to Add Answer )
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Az Zie oz uli=
» Representing UI components
* Managing their state
» Handling events
* Input validation
* Data binding
+ Automatic conversion
» Defining page navigation
 Supporting internationalization and accessibility.

YNade by: YWaqar Siddhu



|Question No : 47 of 52

Marks: 3 (Budgeted Time 6 Min) [zl

Identify and correct errors from the following code that implements inner class:
NoteIgnore syntax erros if any.

inpott java. awt. ™,
inport javax. swing. *,
inpott java. awt. event. *;

-~

Answer ( Please click here to Add Answer )
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|Question No : 48 of 52 Marks: 3 (Budgeted Time 6 Min) E]l

suppose you have two (index jsp and error jsp) files. =

You want, when index jsp file generate any exception user should automatically jump error jsp page.

What you will write i page directive of index jsp page to jump error jsp page automatically. Also what you will write in page directive of error jsp page to make it error page.

Answer (| Please click here to Add Answer ) MHW

@Eal| s e |E i 9@ 1]
II'-ln:nr‘m:aI _II.-—-.rl:::l _“1 _] B 7 U |r§ |: :

<% @ isErrorPage="true" %>
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first part ka ans nhi
pata so000000ry
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|Question No : 49 of 52

Marks: 5 (Budgeted Time 10 Min) El

Socket

Server Socket

What 15 difference between socket and server socket? Also right java syntax to create socket and server socket. Write solution by filling given table.

F

Answer ( Please click here to Add Answer )

VuAnswers.com
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|Question No : 50 of 52 Marks: 5 (Budgeted Time 10 Min) El

What will be the output of following program? =
MyServlet process request method:

protected void processRequest(HttpServietRequest request, HitpServletResponse response)
throws ServletException, [OException {

response. setContentType("text/html");

Answer ( Please click here to Add Answer ) MHsmensrcom
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Marks: 5 (Budgeted Time 10 Min) El

|Question No : 51 of 52

Use the following Bean placed i “IslamRules™ package using ISP action element. Value of amount 1s taken from the form field “amount”.

public class ZakatBean implements Serializable {
private it amount,

private it zakat,

Answer { Please click here to Add Answer )

2
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Marks: 5 (Budgeted Time 10 Min) (=]

o | |

|Question No : 52 of 52
Draw and diwnde the components of internet banking(Client web Server and DB server) into three layered approach?

Answer ( Please click here to Add Answer )

2
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Marks: 2 (Budgeted Time 4 Min)

Question No : 41 of 52

What are advantages of hash tables?

Answer ( Please click here to Add Answer )
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Question No : 42 of 52

Marks: 2 (Budgeted Time 4 Min)

Being a java front end web developer, write the charactenstics of tag with body custom tag and also give example

Answer ( Please click here to Add Answer )
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Marks: 2 (Budgeted Time 4 Min)

Question No : 43 of 52

Why do we use Session Tracking in HitpServlet?

Answer ( Please click here to Add Answer )
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Question No : 44 of 52

Marks: 2 (Budgeted Time 4 Min)

What type of problem persists with Struts Framework?

Answer ( Please click here to Add Answer )

D@é@df}’o Ey (3 | = f“|M|f§?8[’Z] ] ﬂ[@ 100%v|

II'-J-:nrm:al _'_l I,&.r'ial L’ I 12 LI B £ U HTE:: = = = | == *QE *;E

YNade by: Yy/aqar Siddhe



Question No : 45 of 52

Marks: 3 (Budgeted Time 6 Min)

Write any three imitations of default ResultSet object.

Answer ( Please click here to Add Answer )
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Question No : 46 of 52

Marks: 3 (Budgeted Time 6 Min)

What refers to “this™ in following statement and what 1s the meaning of following line in both cases if it returns true or false 7
onsubmit="return validate Form(this)"

Answer ( Please click here to Add Answer )
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Question No : 47 of 52

Marks: 3 (Budgeted Time 6 Min)
Suppose a web page 15 sending phone number and address of a student to server. Write servlet code which will read both values at server end. If any of value 15 blank show message “please enter
value”.

Note: assume boxes names are phnumber and address. You are not required to wnte complete code. Write code that can perform required task.

Answer ( Please click here to Add Answer )
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Question No : 48 of 52

Marks: 3 (Budgeted Time 6 Min)
What 15 the difference between vanable declared inside a declaration part and vanable declared in scriptlet part?

Answer ( Please click here to Add Answer )
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Question No : 49 of 52

Marks: 5 (Budgeted Time 10 Min)
What 15 the difference between node and filter streams? If we get the data from user and compresses it to the required format which streams will be used as node stream and filter stream?

Answer ( Please click here to Add Answer )
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Question No : 50 of 52

Marks: 5 (Budgeted Time 10 Min)
What are benefits of partitioning the application in logical layers?

Answer ( Please click here to Add Answer )
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Marks: 5 (Budgeted Time 10 Min)

Question No : 51 of 52

What are the advantages of Cookies over URL rewriting?

Answer ( Please click here to Add Answer )
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Question No : 52 of 52

Marks: 5 (Budgeted Time 10 Min)

You are required to wnte a Servlet code that will read the parameters passed from the login page. In a login page, user will enter username in text field uname and password i text field pass. If the user
name 15 “vulms” and password 15 “admin” then send the user to “Welcome jsp” else send the user to “Error. jsp”

Note: You are not required to write complete code. Just write code which will read form data and send response to Welcome or Error page.

Answer ( Please click here to Add Answer )
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Question No : 41 of 52

Marks: 2 (Budgeted Time 4 Min)
What 15 the purpose of try block i java program?

Answer ( Please click here to Add Answer )
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Question No : 42 of 52

Marks: 2 (Budgeted Time 4 Min)

How do we know which methods does web service prowide?

Answer ( Please click here to Add Answer )
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Question No : 43 of 52

Marks: 2 (Budgeted Time 4 Min)

<%
studentBean bean = new StudentBean();
0=

see the code given below and convert scriptlet tag to equivalent jsp useBean action element. Consider StudentBean class 1s in package academic.

Answer ( Please click here to Add Answer )
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Question No : 44 of 52

Marks: 2 (Budgeted Time 4 Min)
Why do we use Session Tracking m HttpServlet?

Answer ( Please click here to Add Answer )
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Marks: 3 (Budgeted Time 6 Min)

Question No : 45 of 52
In term of coding event handling 1s three steps process. Wnites these steps in correct order.

Answer ( Please click here to Add Answer )
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Question No : 46 of 52

Marks: 3 (Budgeted Time 6 Min)

IMake three hidden fields for name, 1d and marks with any values you want?

Answer ( Please click here to Add Answer )
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Question No : 47 of 52

Marks: 3 (Budgeted Time 6 Min)

The code given below 15 an ordinary java class. Convert it from ordinary java class to java bean class.

public class StudentBean {
otring email,
otring address;

Answer ( Please click here to Add Answer )
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Question No : 47 of 52

Marks: 3 (Budgeted Time 6 Min)

ff zero argument constructor
public StudentBean( ){
email =7,

address =7

}

/f standard setter

Answer ( Please click here to Add Answer )
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Marks: 3 (Budgeted Time 6 Min)

Question No : 47 of 52

j

if standard setter

public void setEmail(String n) {
emaitl =n;

}

i standard getter

Answer ( Please click here to Add Answer )
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Question No : 47 of 52

Marks: 3 (Budgeted Time 6 Min)

PULLC STNNG gettmanl ) §
return email;

}

ff standard setter
public void setAddress(Stnng n) {

Answer ( Please click here to Add Answer )
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Question No : 47 of 52

Marks: 3 (Budgeted Time 6 Min)

MUlUL VUL DCLEL ML Coo w2 W UL ALY

address =n;

}
i standard getter

public String getAddress() {
return address;

Answer ( Please click here to Add Answer )
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Question No : 47 of 52

Marks: 3 (Budgeted Time 6 Min)

R N

ff standard getter

public String getAddress() {
return address;

}
+fend class

Answer ( Please click here to Add Answer )
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Question No : 48 of 52

Marks: 3 (Budgeted Time 6 Min)

In which situation we can use Expression Language?

Answer ( Please click here to Add Answer )
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Question No : 49 of 52

Marks: 5 (Budgeted Time 10 Min)

Write the names of any five event listener imterfaces which are sub mterfaces of java util EventListener interface.

Answer ( Please click here to Add Answer )
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Marks: 5 (Budgeted Time 10 Min)

Question No : 50 of 52

What 15 the difference between service () method of generic servlet and http servlet? Explamn complete sequence of request forwarding.

Answer ( Please click here to Add Answer )

2
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Question No : 51 of 52

Marks: 5 (Budgeted Time 10 Min)

Implement the following code using JSTL tags:

<%

ArrayLast students = (ArrayList)request getAttribute("sList™),
for(int 1=0; 1=students. size(); 1++)

{
studentInfo s = (StudentInfo)students. get(y);

Answer ( Please click here to Add Answer )
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Marks: 5 (Budgeted Time 10 Min)

Question No : 51 of 52

String name = s.getName();
0=

<%= name %>

<%

+ i end for

Qo=

Answer ( Please click here to Add Answer )
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Question No : 52 of 52

Marks: 5 (Budgeted Time 10 Min)

Which type of information 1s present m (.tld) file? Mention any five.

Answer ( Please click here to Add Answer )
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Question No : 41 of 52 Marks: 2 (Budgeted Time 4 Min)

When do we need to make abstract class?

Answer ( Please click here to Add Answer ) VU#I'ISWGTSTCOTT'I
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Question No : 42 of 52 Marks: 2 (Budgeted Time 4 Min)

How clients find web services?

Answer ( Please click here to Add Answer ) VU#I'ISWGTSTCOTT'I
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Question No : 43 of 52

Marks: 2 (Budgeted Time 4 Min)

Request of one page can be dispatched to other page using two methods. Write the code syntax of both methods

Answer ( Please click here to Add Answer )
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Question No : 44 of 52

Marks: 2 (Budgeted Time 4 Min)

How we write include directive in ISP page. Write only ISP code syntax.

Answer ( Please click here to Add Answer )
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Marks: 3 (Budgeted Time 6 Min)

Question No : 45 of 52
Wnte a method drawJava() that chooses random color from the standard RGE colors and prints “Hello™ at 100 different locations with the specified color.

Answer ( Please click here to Add Answer )
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Question No : 46 of 52

Marks: 3 (Budgeted Time 6 Min)

Does java support automatic type conversion? Suppott your answer.

Answer ( Please click here to Add Answer )

FESQ| Lo oM |E L |@|100%v[|

|hl|l
il
i

|

Normal _"_I Arial ;j 12 __l B £ U |[—~§ | E = tE

W

| I l
%)
('h}
T
(]

YNade by: Y/aqar Siddhe



Question No : 47 of 52 Marks: 3 (Budgeted Time 6 Min)

Suppose two mnitialization parameter values are defined i xml file. Being a java web developer, how you will read the values of both parameters at server end.

Note: Suppose the names of parameters are paddress and sender. You are not required to write complete code. Write code which will on values.

YuAnswers.com

Answer ( Please click here to Add Answer )
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Question No : 48 of 52

Marks: 3 (Budgeted Time 6 Min)

Custom tags have three forms. Wnite the name of each form.

Answer ( Please click here to Add Answer )
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Marks: 5 (Budgeted Time 10 Min)

Question No : 49 of 52
Create a server program that recewves user s NIC number from client and sends it back to the client whose IP address 1s: 196.192.1.2 residing on the port 1008 server resides on the 1299 port.

The message should be sent i the following format:
“Your [user given NIC number] shall be safe”.

You are not supposed to wrte a client program.

Answer ( Please click here to Add Answer )
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Question No : 50 of 52

Marks: 5 (Budgeted Time 10 Min)

Differentiate between JSP’s and servlets with example codes.

Answer ( Please click here to Add Answer )
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Marks: 5 (Budgeted Time 10 Min)

Question No : 51 of 52
To simplfy code mn JSP expressions and scriptlets eight vanables or implicit objects are already defined i JSP APT Three of them are already given below. Write the names of other five objects.

0. request
1. response
2. out

YuAnswers.com

Answer ( Please click here to Add Answer )
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Question No : 52 of 52 Marks: 5 (Budgeted Time 10 Min)

Differentiate between web pages and web services?

Answer ( Please click here to Add Answer ) VU#I'ISWGTSTCOTT'I
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Marks: 2 (Budgeted Time 4 Min)  |=]

Question No : 41 of 52

|| What 15 the difference between client socket and server socket?

Answer ( Please click here to Add Answer )
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As soon as client creates a socket that socket attempts to connect to the specified

server.
* The server listens through a special kind of socket, which is named as server socket.

* The sole purpose of the server socket is to listen for incoming request; it is not used

for communication
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Question No : 42 of 52
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Marks: 2 (Budgeted Time 4 Min)  |=]
| What 15 tag ibrary? -]
=
Anewor { Plonss click iote 1 AT Anwar) VuAnswers.com
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The JSP Standard Tag Library (JSTL) is a collection of custom tag libraries
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Question No : 43 of 52 Marks: 2 (Budgeted Time 4 Min) =}

EL (expression language) uses four different scopes to search an object or property. Write the name of each scope. =

2 VuAnswers.com
P A Map associating 1 : values of page sc -
pageScope A Map associating names & values of page scoped
attributes
_ = A Map associating names & values of request scoped
Scopes requestScope hare we just write the names.. just
attributes
i) Page Scop
sessionScope A Map associating names & values of session scoped u) ,equeftsmpe
I i) SessionScope
attributes iv) applicaionScope
- A Map associating names & values of application
applicationScope £ g Sl PP
scoped attributes - ®
nde by: nqar Siddhe
| 1




Marks: 2 (Budgeted Time 4 Min)  |=]

Question No : 44 of 52
Write a code statement to remove the value associated with the “amazonSession” of object "sesston”.

Answer ( Please click here to Add Answer )
FEaSR|rEae o #|E LR 9 [@ [
][ | o v |BE===;

I Mormal

removeAttribute(String)
o This method removes valies associated with the name

Session.rmoveAttributes ( " amazoneSession");
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Question No : 45 of 52

Marks: 3 (Budgeted Time 6 Min) (=]

|| Define polymorphism with respect to DryFruits, Fruits and FreshFruits? “Polymorphic” literally means “of multiple shapes” and in the context of OOP, ZI
Polymorphic means “having multiple behaviors”

Genrl Idea of polymorephism _ﬁ * A parent class reference can point to the subclass objects because of is-a relationship.

*A polymorphic method results in different actions depending on the object being
referenced

'| o Also known as late binding or run-time binding

Answer ( Please dlick here (o Add Answer ) VuAnswers.com
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Fruits is an Abstract class, and DeyFruits, and FreshFruits Both are Child classes and have to make
them cancreate classes
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Question No : 46 of 52

Marks: 3 (Budgeted Time 6 Min) =}
Why HTTP 1s made stateless protocol? Explain with example. =
s |

Answier ( Please click here to Add Answer ) VuAnswers.com
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HTTP is a stateless protocol. Every request is considered

independent of every other request. But many applications need to maintain a conversational
state with the client. A shopping cart is a classical example of such conversational state.
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Question No : 47 of 52

Marks: 3 (Budgeted Time 6 Min) (=]

What inpact a JavaBeans object can produce when it 15 stored i an Application?

Answer ( Please click here to Add Answer )

VuAnswers.com
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These conventions are:
® A bean class must have a zero argument constructor

¢ A bean class should not have any public instance variables/attributes (fields)
® Private values should be accessed through setters/getters

¢ A bean class must bejSeérializapie

for point foure. NOte serializeation..
pasing the objects.....

serialize an object means to convert its state to a byte stream so that the byt
stream can be reverted back into a copy of the object. A Java object is

serializable if its class or any of its superclasses implements either the
java.io.Serializable interface or its subinterface
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Question No : 48 of 52 Marks: 3 (Budgeted Time 6 Min) (=]

|| Why do we use client side validation?

'|
Answer ( Please dlick here (o Add Answer ) VuAnswers.com
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There are two good reasons to use client-side validation:
® It's a fast form of validation: if something's wrong, the alarm is triggered upon submission

of the form.

¢ You can safely display only one error at a time and focus on the wrong field, to help ensure
that the user correctly fills in all the details you need
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Question No : 49 of 52

Marks: 5 (Budgeted Time 10 Min) (=]

Differentiate between JSP s and servlets with example codes.

A

JSP that is displaying a current date. This page more looks like a
HTML page except of two strangely written lines of codes. Also there are no signs of
doGet(), doPost().

Answer ( Please click here to Add Answer )

VuAnswers.com

I MNormal

JSP code:-

<%@ page import=“java.util.”” %>
<html>

<body>

<h3>

Current Date is:<%= new Date()%>
</h3>

</body>

</html>

# |5 0 G 9| @) frooe = serviets

L

import javax.serviet.http.”; must call , do get, or do post
import javax.serviet.”;

public class abc extend HttpServiet{
public void dopost(http ServietRequest request,
httpServietResponse response){

PrintWiter out= response.getwRITER()
try{

OUT.PRINT("<htmI>")
OUT.PRINT("<body>")

OUT.PRINT("<h1>hello</h1>") mude bU: wuq“’ &iddl"l
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Question No : 50 of 52
Use the following Bean placed i “IslamRules™ package using ISP action element. Value of amount 15 taken from the form field “amount”.

public class ZakatBean inplements Senalizable {

private it amount;
private int zakat,
Answer ( Ploase click here to Add Answer ) VuAnswers.com
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|| What are benefits of partitioning the application in logical layers?

Answer ( Please click here to Add Answer ) VuAnswers.com
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Each layer performs a specific functionality which should not be mixed with other lavers. Layers are isolated from each other to
reduce coupling between them but they provide interfaces to communicate with each other.
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Following are the contents of file 1 txt

My name 15 ali.
My roll no 15 be020400001.
I am studying java. =

Java is very easy.

Answer ( Please click here to Add Answer )
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